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BRI ma | BTV e | B | e | o | e | B2 | [T i | B2 || G | T
1 100kN/m#E {82 % 1.00{0.00 ~ 3.02 148.09| 3m% B2 % ol ~ - - —| 100kN/mM%#8% % 1.00( 10.91 ~ 39.98 148.09| 3m%x A5 = Kad - - =
FhLlst 1.00] 3.02 ~ 10.81 100.00] ZHLl4t 1 0.00 ~ 10.81| 2.98 15.04 FnList 1.00f 5.00 ~ 10.91 100.00] &#hLlst | 5.00 ~ 39.98] 2.98 15.04
9 100kN/m#E 2 % 1.00{0.00 ~ 3.93 164.25(3m%i#E%%(0.00 ~ 237 4.14 20.92| 100kN/m##BZ % 1.00( 10.58 ~ 57.25 164.25(3m%x B2 %[ 25.00 ~ 57.25| 4.14 20.92
FhLlst 1.00]3.93 ~ 11.72 100.00| Z#hLlst |2.37 ~ 11.72] 3.00 15.16 FnList 1.00f 5.00 ~ 10.58 100.00] &#hLlst | 5.00 ~ 25.00f 3.00 15.16
3 100kN/m#E 82 % 1.00{0.00 ~ 3.93 164.25(3m%i#E%%(0.00 ~ 237 4.14 20.92| 100kN/m##BZ % 1.00( 10.58 ~ 57.25 164.25(3m%xi#E 25| 25.00 ~ 57.25| 4.14 20.92
FhLlst 1.00]3.93 ~ 11.72 100.00| ZhLlst |2.37 ~ 11.72] 3.00 15.16 FnList 1.00f 5.00 ~ 10.58 100.00] &#hLlst | 5.00 ~ 25.00f 3.00 15.16
4 100kN/m#E 2 % 1.00{0.00 ~ 3.89 163.38|3m%i#E%%(0.00 ~ 2.33| 4.10 20.74| 100kN/m%#BZ % 1.00[ 10.55 ~ 57.25 163.38(3m%x B2 5| 25.00 ~ 57.25| 4.10 20.74
FhLlst 1.00] 3.89 ~ 11.67 100.00] #hLlst |2.33 ~ 11.67| 3.00 15.16 FnList 1.00f 5.00 ~ 10.55 100.00] &#nLlst | 5.00 ~ 25.00f 3.00 15.16
5 100kN/m#E 2 % 1.00/0.00 ~ 3.80 161.77|3m%i#E%%|0.00 ~ 226 4.05 20.47| 100kN/m##BZ % 1.00{ 10.53 ~ 57.00 161.77|3m%i#E 25| 25.00 ~ 57.00| 4.05 20.47
FhLlst 1.00] 3.80 ~ 11.58 100.00] Z#hLlst |2.26 ~ 11.58] 3.00 15.16 FnLLst 1.00f 5.00 ~ 10.53 100.00] &#nLlst | 5.00 ~ 25.00f 3.00 15.16
6 100kN/m#E 2 % 1.00/0.00 ~ 3.80 161.77|3m%i#E%%|0.00 ~ 226 4.05 20.47| 100kN/m##BZ % 1.00( 10.53 ~ 57.00 161.77|3m%i#8 25| 25.00 ~ 57.00| 4.05 20.47
FhLlst 1.00/ 3.80 ~ 11.58 100.00| ZHLlst |2.26 ~ 11.58] 3.00 15.16 LS 1.00f 5.00 ~ 10.53 100.00] ZHLlst | 5.00 ~ 25.00f 3.00 15.16
7 100kN/m#E 2 % 1.00{0.00 ~ 3.52 156.76|3m%i#E%%|0.00 ~ 209 3.93 19.85| 100kN/m%#B% % 1.00( 10.61 ~ 55.56 156.76(3m%x = %[ 30.00 ~ 55.56| 3.93 19.85
ThLlst 1.00{ 3.52 ~ 11.30 100.00| ZzhLlst [2.09 ~ 11.30] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 10.61 100.00] Z=hLlst+ | 5.00 ~ 30.00f 3.00 15.16
8 100kN/M%E#BZ % 1.00{ 0.00 ~ 3.52 156.76| 3m% €24 0.00 ~ 2.09| 3.93 19.85| 100kN/m%#8% % 1.00] 10.61 ~ 55.56 156.76| 3m%x#x 5| 30.00 ~ 5556 3.93 19.85
Thilst 1.00{ 3.52 ~ 11.30 100.00| ZhLlst [2.09 ~ 11.30] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 10.61 100.00] Z=hLlst+ | 5.00 ~ 30.00f 3.00 15.16
9 100kN/M%E#BZ % 1.00{ 0.00 ~ 3.10 149.37|3m% 24| 0.00 ~ 1.89| 3.80 19.18| 100kN/m%#8% % 1.00] 10.97 ~ 54.00 149.37|3m%x#Z 5| 40.00 ~ 54.00( 3.80 19.18
Thilst 1.00{ 3.10 ~ 10.88 100.00] ZzhLlst | 1.89 ~ 10.88] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 10.97 100.00] Z=hLlst+ | 5.00 ~ 40.00f 3.00 15.16
10 100kN/M%E#B 2 % 1.00{ 0.00 ~ 291 146.14|3m% 24| 0.00 ~ 1.80| 3.74 18.92| 100kN/m%#8% % 1.00] 11.20 ~ 56.60 146.14|3m%x#Z 5| 40.00 ~ 56.60( 3.74 18.92
Thilst 1.00{ 2.91 ~ 10.70 100.00] ZhLlst | 1.80 ~ 10.70] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 11.20 100.00] Z=hLlst | 5.00 ~ 40.00f 3.00 15.16
11 100kN/mM%E#BZ % 1.00{ 0.00 ~ 2.38 137.12|3m% 24| 0.00 ~ 1.59| 3.62 18.32| 100kN/m%#B% % 1.00] 12.06 ~ 67.41 137.12|3m%x#Z 5| 40.00 ~ 67.41| 3.62 18.32
Thilst 1.00{ 2.38 ~ 10.16 100.00] ZzhLlst | 159 ~ 10.16] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 12.06 100.00] Z=hLlst+ | 5.00 ~ 40.00f 3.00 15.16
12 100kN/M%E#BZ % 1.00{0.00 ~ 2.79 14417 3m%xEZ S =l ~ - = —| 100kN/mM%#8% % 1.00] 11.11 ~ 36.42 144.17|3mZE#BZA % i ~ = = =
Thilst 1.00{2.79 ~ 10.58 100.00|] ZhLlst [ 0.00 ~ 10.58| 2.94 14.86 ZnLlst 1.00] 5.00 ~ 11.11 100.00] =hbLlst | 5.00 ~ 36.42| 294 14.86
13 100kN/mM%E#BZ % 1.00{0.00 ~ 3.12 149.82|3m% 24| 0.00 ~ 0.04] 3.02 15.27| 100kN/mM%#8% % 1.00] 10.74 ~ 36.42 149.82|3m%x#Z 5| 30.00 ~ 36.42 3.02 15.27
Thilst 1.00f 3.12 ~ 10.91 100.00| ZhLlst [0.04 ~ 10.91| 3.00 15.16 ZnLlst 1.00] 5.00 ~ 10.74 100.00] Z=hLlst+ | 5.00 ~ 30.00f 3.00 15.16
14 100kN/mM%#B 2 % 1.00{ 0.00 ~ 3.12 149.82| 3m% 24| 0.00 ~ 0.04] 3.02 15.27| 100kN/mM%#8% % 1.00] 10.74 ~ 36.42 149.82|3m%x# A 5| 30.00 ~ 36.42 3.02 15.27
Thilst 1.00] 3.12 ~ 10.91 100.00] ZhLlst [0.04 ~ 10.91| 3.00 15.16 ZnLlst 1.00] 5.00 ~ 10.74 100.00] Z=hLlst+ | 5.00 ~ 30.00f 3.00 15.16
15 100kN/M%E#B 2 % 1.00{ 0.00 ~ 3.42 155.03|3m% 24| 0.00 ~ 0.29| 3.15 15.92| 100kN/m%#8% % 1.00] 10.53 ~ 34.49 155.03|3m%x# A 5| 25.00 ~ 34.49| 3.15 15.92
Lt 1.00{ 342 ~ 11.21 100.00f Z#List [0.29 ~ 11.21f 3.00 15.16 Lt 1.00] 5.00 ~ 10.53 100.00f Zhn L5t | 500 ~ 25.00] 3.00 15.16
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R oma | BT e | B2 | e | e | B2 | BT e | B2 | T | & | T
16 100kN/mM##8 %% 1.00{0.00 ~ 3.35 153.80| 3m*x#% %] 0.00 ~ 0.37| 3.20 16.17| 100kN/m#%#BZ% 1.00] 10.54 ~ 31.04 153.80| 3m#%x#E% 5| 25.00 ~ 31.04| 3.20 16.17
s 1.00]3.35 ~ 11.14 100.00f Z=h st 1 0.37 ~ 11.14] 3.00 15.16 Lo 1.00] 5.00 ~ 10.54 100.00| =hList | 500 ~ 25.00| 3.00 15.16
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zh st ~ zh st ~ Lt ~ ZnLst ~
100kN/ Mm% 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zh st ~ zh st ~ Lt ~ ZnLst ~
100kN/ Mm% 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zh st ~ zhLst ~ Lt ~ Lt ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBAD ~
zh st ~ zh st ~ Lt ~ ZnLst ~
100kN/ Mm% 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
Zh st ~ ZhLst ~ ZnLst ~ ZnLst ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zhs ~ zhs ~ Lot ~ st ~
100kN/MZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Ths ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Ths ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ Thst ~ ZhLst ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ st ~ st ~
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